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QUESTION 1

Which of the following types of network topologies are supported by IS-IS on the Alcatel- Lucent 7750 SR? Choose two
answers.

A. Non-broadcast

B. Broadcast

C. Point-to-multipoint
D. Point-to-point

Correct Answer: BD

QUESTION 2

When IS-IS elects a DIS, what is used as the tie breaker on an Alcatel-Lucent 7750 SR, if the priorities are the same?
A. The system ID.

B. The loopback address.

C. The sequence number of the Hello packet.

D. The device that first initiated communication becomes the DIS

E. The highest interface MAC address.

Correct Answer: E

QUESTION 3

Which of the following best describes the label stack for a packet in the VPRN context?
A. An outer label and a transport label.

B. An inner label and a service label.

C. A transport label and a service label.

D. An MPLS transport label

Correct Answer: C

QUESTION 4

Which of the following messages is NOT used in T-LDP operation?
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A. Hello message

B. Init message

C. Keepalive message

D. Label Mapping message
E. ACK message

Correct Answer: E

QUESTION 5

Which of the following are features of RSVP-TE? Choose three answers.
A. It supports IGP-based LSPs.

B. It supports constrained path LSPs.

C. It does not support loose explicit path LSPs.

D. It is recommended for use in Traffic Engineering applications.

E. It cannot be used with facility backup fast reroute.

Correct Answer. ABD
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